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NUMBER SYSTEM WORKSHEET - B

Tick (V) the correct answer

Q1. 100 lakhs = millions.
a)1l b) 10 c) 100 d) 1000

Q2. Which of the following is meaningless?
a) IXI b) XL c) Xvv d) LIV

Q3. The predecessor of 70,000 —
a) 70,001 b) 69,999 c) 70,009 d) 68,899

Q4. is neither a prime nor a composite number.
a)o b) 1 c)2 d) None of these

Q5. The greatest 4 digit number using the digits 2,0,7,9 is —
a) 7029 b) 9270 c) 9720 d) 9072

Q6. We write 803205901 in words as —

a) Eight Crore Thirty Two Lakh Five Thousand Nine Hundred One.
b) Eight Crore Thirty Two Thousand Nine Hundred One.

c) Eight Lakh Thirty Five Thousand Nine Hundred One.

d) Eighty Crore Thirty Two Lakh Five Thousand Nine Hundred One.

Q7. 4624 is divisible by —
a)2 b) 4 c)Both 2 and 4 d) None of these

Q8. Which of the following is a composite number?
a) 13 b) 57 c) 43 d) 97

Q9.7928+ =7928
a)1l b)0 c)2 d) None of these

Q10. The sum of greatest 3 digit number and the smallest 4 digit number is —
a) 10099 b) 9899 c) 10000 d) 1999
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